Compare temperatures above and below zero.

At 9:00 am, Belta recorded a temperature of 10 degrees celsius. At 3: 30 pm she
recorded a temperature of 35 degrees celsius. Was it/\warmer or colder at 3:30 pm?

D warmer D colder

Belta recorded the temperature of her freezer and it was 1 fahrenheit. She equally
recorded the temperature of her neighbour’s freezer and it was -1 fahrenheit. She
also measured the temperature of her sister’s freezer and it was O fahrenheit. Whose
freezer is the coldest?

D Belta’s freezer D Her sister’s freezer D Her neighbours freezer

The temperature of Dallas was 25 degrees celsius. the temperature of wichita falls was
22 degrees celsius. Was the weather in Dallas warmer or colder than the weather in
wichita falls?

D colder D Warmer

Leo and his friend Mark recorded their body temperature. Leo’s body
temperature was 37 degrees celsius. Mark’s body temperature was
41 degrees celsius. Who has a normal body temperature?

D Leo | D Mark |

At 5:30 am, the temperature was -10 degrees celsius. At 9:00 am, the temperature
was -18 degrees celsius. When was it colder?

D 5:30 am D 9: 00 am
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Compare temperatures above and below zero.

At 9:00 am, Belta recorded a temperature of 10 degrees celsius. At 3: 30 pm she

recorded a temperature of 35 degrees celsius. Was it warmer or colder at 3:30 pm?

M/ warmer D colder

35 degrees celsius is warmer than 10 degrees. so, it was warmer at 3:30 pm. |

Belta recorded the temperature of her freezer and it was 1 fahrenheit. She equally
recorded the temperature of her neighbour’s freezer and it was -1 fahrenheit. She
also measured the temperature of her sister’s freezer and it was O fahrenheit. Whose
freezer is the coldest?

D Belta’s freezer D Her sister’s freezer m/ Her neighbours freezer

-1 fahrenheit is the coldest. this is because nagative indicates very cold

The temperature of Dallas was 25 degrees celsius. the temperature of wichita falls was
22 degrees celsius. Was the weather in Dallas warmer or colder than the weather in
wichita falls?

D colder M Warmer

25 degrees celsius is warmer than 10 degrees celsius.

Leo and his friend Mark recorded their body temperature. Leo’s body
temperature was 37 degrees celsius. Mark’s body temperature was
41 degrees celsius. Who has a normal body temperature?

o o O Mark

37 degrees celsius is the normal body temperature. | AN

At 5:30 am, the temperature was -10 degrees celsius. At 9:00 am, the temperature
was -18 degrees celsius. When was! it colder?

D 5:30 am M 9: 00 am

-18 degrees celsius is colder than -10 degrees celsius.
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